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In other words, if you substitute the x and y coordinates of the solution where x = 30 and y = 20 both equations are TRUE!   

Equation 1:  x   +    y =    50                                                 Equation 2:  10x    +     5y =          400          
                    (30) + (20) = 50 memberships        and                            $10(30) + $5(20) = $300 + $100 = $400 
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3(100)+2(150) = 600 
300 + 300 = 600 

600  = 600 
TRUE! 

 
(100) + (150) = 250 

250  = 250 
TRUE! 

 

Solution 
(100, 150) 

x = 100 
y = 150 

 

Solution 
(20, 50) 

x = 20 quarters 
y = 50 dimes 

 

.25(20)+.1(50) = 10 
5 + 5 = 10 
10  = 10 
TRUE! 

 
(20) + (50) = 70 

70  = 70 
TRUE! 
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